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(¥) st Zﬁgloﬁs Slr-aéTTraéri?lggn::)cl)ggzbsliﬁglces. Beneath each sentence you will see e 18
< C four words or phrases marked (1), (2), (3) and (4). Choose the one word or .
phrase that bestpcompletes the ser&te)nc(e.) Tgle)n marf{ g/our answer sheet. U:‘E:::?E;ng:;f;lgle
61- We have brought the camera. We’ll be able to take ... photographs of the building. (Get Ready, ..., Reading)
1) any 2) a little 7o U1 ganio
3) no 4) some
62- She knows she still has ... to learn, but she clearly understands now what teaching is all about.
1) many 2) a lot of 3) lots of 4) alot

63- Those brothers, ... their facial similarity, have many things in common in terms of their manners,
intelligence and wealth.
1) besides 2) towards 3) along 4) because of

64- It’s hard to say how to help the poor unless you yourself are brought into contact with them to know fully
what their ... are.

1) tongues 2) regions 3) problems 4) opinions

65- The most important function of the traffic rules is to ... drivers from accidents.
1) prepare 2) decrease 3) prevent 4) identify

66- Muscular exercising together with a light music is believed to have a good effect on your both mental and ...
health.
1) popular 2) social 3) physical 4) favorite

67- The writer has tried to make all the secrets behind the incidents and events newly occurring in the country
clear in the ... -published edition of his old book called, “My Dear Venezuela”.
1) recently 2) rightly 3) quietly 4) honestly
PART B: Cloze Test
Directions: Read the following passage and decide which choice (1), (2), (3), or (4) best fits each space. Then mark the
correct choice on your answer sheet.

My name is Rachel Momentum. I live in a village near Urbana Champaign, 157 Km faraway from
Chicago. We have a nice life here in our village. Actually all the people in the village have ...(68)... lives.
Their main job is to work on land and raise organic products. Now that I am writing this passage, my
parents have gone to town to buy some ...(69)... for our business of producing crafts. We have a small
factory and make lots of artworks in it. Tourists from different countries come and buy from our small yet
valuable factory. They speak different ...(70)... such as French and German, so my parents and I do not
understand them. Fat and lazy, many of the tourists live in cities and do not do physical ...(71)... . They will
...(72)... a lot of weight if they do not choose a proper lifestyle.

68- 1) healthy 2) recent 3) favorite 4) harmful
69- 1) places 2) materials 3) pictures 4) institutes
70- 1) languages 2) relationships 3) manners 4) vegetables
71- 1) condition 2) exercise 3) death 4) pressure
72- 1) gain 2) lose 3) care 4) take

PART C: Reading Comprehension

Directions: Read the following passages and answer the questions by choosing the best choice (1), (2), (3), or (4). Then mark the correct
choice on your answer sheet.

Passage 1

We are a planet of seven billion people, and this number is growing by about 370,000 people every day.
This is putting a huge strain on the planet’s natural resources. For many governments and environmental
organizations, the race is on to drastically reduce our consumption of resources before they run out. Water
is one of our most precious resources. Our quality of life, as well as life itself, depends on the availability of
clean, fresh water. Although 70 percent of the world is covered in water, only 2.5 percent of that fresh water
is readily available to us. Nearly 92 percent of all fresh water used annually is dedicated to growing plants
and raising animals for food. This means that if water runs out, our food supply might follow. In India, a
country where the population exceeds 1.2 billion people and is growing rapidly every year, this is a huge
concern. India, like many developing countries, is already struggling to control its population. While most
people in developed countries can get water at the turn of a tap, about four billion people elsewhere lack
access to safe water, according to a 2012 United Nations’ World Water Development Report.

Rain forests are another endangered resource. Every second, an area of rain forest the size of a football
field is destroyed. At this rate, rain forests will disappear completely in less than forty years. All rain forests
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are important, but it would be a disaster if the Amazon rain forest were gone. Often called the “Lungs of the
Planet” the Amazon stretches across a large portion of South America.

Governments around the world have laws to help protect and conserve these precious resources. But, no
matter how many rules there are, it is ultimately individuals who must help the planet to sustain itself.
Changing our lifestyle and limiting our use of natural resources is the only way to ensure a better future for
our children, and our children’s children.

What does the author mean when he says “People in developed countries can get water at the turn of a tap”?
1) Water is easily available to people in developed countries.

2) People in developing countries do not have taps.

3) People in developed countries waste more water.

4) Water is not available in developed countries at all.

The writer uses India as an example of a country that ... .

1) pollutes and wastes water 2) should be considered as a developing country
3) has access to lots of clean water 4) depends on water to grow food

In the first paragraph, the underlined term “strain” is closest in meaning to ... .

1) pressure 2) reaction 3) attitude 4) wonder

Why does the author discuss “our children’s children” in the last line?
1) to say people who have children cause the most problems

2) to compare the lifestyle of children and adults

3) to suggest our actions relate to the world beyond a few years

4) to satisfy the next generation relating to the adults’ actions

Passgae 2

Human language is unique in comparison to other forms of communication, such as those used by non-
human animals. Communication systems used by other animals such as bees or apes are closed systems that
consist of a finite, usually very limited, number of possible ideas that can be expressed.

In contrast, human language is open-ended and productive, meaning that it allows humans to produce a
vast range of utterances from a finite set of elements, and to create new words and sentences. This is possible
because human language is based on a dual code, in which a finite number of elements which are
meaningless in themselves (e.g. sounds, letters or gestures) can be combined to form an almost infinite
number of larger units of meaning (words and sentences). Furthermore, the symbols and grammatical rules
of any particular language are largely arbitrary, so that the system can only be acquired through social
interaction. The known systems of communication used by animals, on the other hand, can only express a
finite number of utterances that are mostly genetically determined.

Several species of animals have proved to be able to acquire forms of communication through social
learning: for instance a bonobo named Kanzi learned to express itself using a set of symbolic lexigrams.
Similarly, many species of birds and whales learn their songs by imitating other members of their species.
However, while some animals may acquire large numbers of words and symbols, none have been able to
learn as many different signs as are generally known by an average 4 year old human, nor have any
acquired anything resembling the complex grammar of human language.

The writer names bees and apes as examples to prove that ... .

1) animals use a specific kind of communication system that is genetically acquired not socially learned
2) humans’ means of communication is open-ended system that allows them to use sounds and letters
3) animals are able to combine finite number of elements to communicate with other species

4) humans are different from animals in that humans are able to learn the communication system used by animals
In the last paragraph, the writer tries to say that ... .

1) some species of animals are able to learn as many different signs as humans are

2) acquring communication forms by social learning is not specific to just humans

3) many species of birds and whales learn by imitating the human language

4) Bonobo named Kanzi are examples of the animals that are able to learn the complex grammar of human
language

From the context, we imply that the underlined word “arbitrary” word refers to ... .

1) learning symbols and grammatical rules

2) the known systems of communication used by animals

3) the finite number of utterances

4) learning something by social interaction

The passage is mainly about ... .

1) the comparison of productive languages compared with nonproductive ones

2) the human’s communication system in contrast with animals’ communication system

3) the comparison of bees’ system of communication with the one belongs to people

4) the communication through social learning
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